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NEW QUESTION 1
HOTSPOT

You work as an intern Java programmer at Adventure Works. Your team lead asks you to create a method. The method must meet the following requirements:
 Accept an int array
o (Check for duplicate values in the array
* 5Stop the outer loop as soon as a duplicate value has been detected and return true
» Return false if all values in the array are unique

How should you complete the code? To answer, select the appropriate code segments in the answer are

A. Mastered
B. Not Mastered

Answer: A

Explanation:
public static boolesn duplicate{int[] array) {
x < array length - 2.
| x < array length - 1. |
x <= grray length’

boolean isDuplicate = false;

for ( - x <= amay length - 1,
(o=
fn{;: 1 | 1; y < array.length; w )
intx =1 x=x+1
:|r'lt}i'.:c|.'__ . e ar"rg?[y]j
y=y=
x_

isDuplicate = trus;

if {isDuplicate)

| saltch
b finally
continue:

return isDeplicate;

NEW QUESTION 2

DRAG DROP
Northwind Traders hires you to write a Java program to manage account openings. To open a new account, a user must meet one the following requirements:

* be over 65 years old and have a minimum annual income of 10,000
* Dpe atleast 21 and have an annual income greater than 25,000

How should you complete the code? To answer, drag the appropriate operator to the correct position. Each operator may be used once, more than once, or not at
all. You may need to drag the split bar between panes or scroll to view content.

Dperators Answer Anea
(17 . | e ia im - L L [age (L} L 100
age a1 income 450pa ) {
Syutes, put-println] “Agpraoved ™)
|
glas [

Syitem, oul.println"Daclingd ™)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Operators = Answer Area
F]j_u__HT‘-_”Ty- F ] t¢ toge [~ |05 [5 ] sncome [ ] 10000
o | n ‘ Jm.;au = 0] {

fystenout. printind ™ approwed™ i 1

wdew 4

Sratea.oet prlntind " Berlined™

NEW QUESTION 3

HOTSPOT

You work for Woodgrove Bank as a Java programmer.

You need to evaluate the following class. Line numbers are included for reference only.

@1 public class Account {
82 protected int balance;
@3 public Account{) {

B4 balance = @;

e5 }

856 public Account{int amounmt) {
e7 talance = amount;

es

@9 }

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
&

Arswer Area
Yes Mo
The account class has a single constructor.
Onher classes can inherit the Aceount class.
Line 07 is eguivalent 10 this.balance = amount;
A. Mastered

B. Not Mastered

Answer: A
Explanation: _
. 8o ee ¥
Answer Area
Yes Mo
The Account class has a single constructor. r:l
Criher classes can inherit the sceount class. t:'
Line 07 is equivalent to this. balance = amount; D

NEW QUESTION 4
HOTSPOT
You have the following code segment. Line numbers are included for reference only.

81 public class Customer

@z {

83 private int dd = 3;

ed public static void main(5tring[] args)
@5 {

BE Customer customer = new Customer();
a7 id = 5;

es showId{);

g 1

1a

11 protected void showId()

12 I

i3 System.out.println{id);

14 13

15 }

The code does not compile.
For each of the following statements, select Yes if the action is required to resolve the compilation error. Otherwise, select No.
NOTE: Each correct selection is worth one point.
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Answer Arca

Change the access modifier of the vanable 14 10 puslie
Change the access modifier of the showld method 10 poblic.

O lines OF and 08, add the prefic custemsr. 10 4d 20 showdd ().

A. Mastered
B. Not Mastered

Answer: A
Explanation:
Answer Area
Yes Mo
Change the sccess modifier of the vanabde 1d 10 public. m

Change the access modifier of the showld method o public.

El [

On lines 07 and 08, add the prefix custeasr. 10 £d and showId( ).

NEW QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct. You have the following class definition:
class Logger

1
public woid logError{String message)
{
¥

¥

A. No change is needed.
B. only by the Logger class.

C. only by the Logger class and classes in the same package that inherit from it.
D. by all classes in all packages.

Answer: C

NEW QUESTION 6

HOTSPOT

You are writing a Java class named savings Account. The class must meet the following requirements:
» Inherit from an existing class named Account

« [nclude a constructor that uses the base class constructor to initialize the starting balance
 Include a substitute tostring() method

How should you complete the code? To answer select the appropriate code segments in the answer area.

public class Savingiiccount *  Agcount

double rate = 9.02;
watend;
Leal v
irglemandy

Savingsatcount|double startingBalance] { E}

w» (startingBalance);

A coning
[P
cariiucio
U

implements
e

& Overigad

& Override

poblic String raStrinmg() {
return String. forsat{“Sevings Current Balsnce: SN.27", this.getBalance(}):

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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publlec class Savingsiccount w  Aocount |

double rate = D023
gitands

Savingsaccount{double startingBalarce) | h

- l:i.tlrtl.n.ﬂ-j.lnq el

public Sering toString() {

return String format|"Sevings Current 8alance: $X.2f", this getf8alance());
L |
y

NEW QUESTION 7
HOTSPOT

You write the following Java program for Munson's Pickles and Preserves Farm. Line numbers are included for reference only.

€l class Pickle {

g2
a3
a4
a5
2
87y
{515
83
ia
11
12
13
14
15

You encounter error messages when you attempt to compile the program. You need to ensure the program compiles successfully.
How should you complete the code? To answer, select the appropriate code segments in the answer area.

4

¥

boolean isPresserved = falss;
private boolean isCreated = false;

void preserve(} q
izPreserved = truse;

¥

public stetic void main{String[] args)
1
Pickle pickle = new pickle(};
izsCreated = true;
pickle.preserve;

¥

class Pickle {
boolean isPreserved = false;
private boolean isCreated = false;

void preserve() {
isPreserved = true;
iy

public static vold main(String[] args)
{

Pickle pickle = new packla();
Packle pickle = new Picklad);
pickle Pickle = new Pickle();
_pickle Pickle = new pickle();

-
[izCreated = true:
Pickle isCreated = true:
| pickle isCrealed = true
-

3 plckla prasarve

3 pickle presarve)
Pickle preserve
Pickle preserval)
A. Mastered

B. Not Mastered

Answer: A

Explanation:
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class Pickle {

}

boolean isPreserved = false;
private boolean isCreated = false;

void preserve() {
isPreserved = trug;
¥

public static vold main({String[] args)
i

Pickle pickle = new Bicklad); |
pickle Fickle = new Fickle(); |
_pickle Pickle = new pickle(); |

Pickie isCreated = trug;

]rﬁﬁﬁiﬁﬁﬁﬁE_T
pickle prasame()
Pickle preserve

| Pickle prasarva()

NEW QUESTION 8

HOTSPOT

You work as a Java programmer. A member of the team creates the following program. Line numbers are included for reference only.

@1 public static void main{5tring[] args) {
int timer = 68;

a2
a3
o4
a5
a6
a7
o8
a5
1a
11
12
13

14 }

while (timer => @)

i

if (timer = @)

break:

elsze

(
System.out.println(“The timer is counting down...")}
timers+;

)

The program is supposed to display a message to the console while it counts down from 60. The method does not work as intended. How should you correct the

code? To answer, select the appropriate code segments in the answer area. NOTE: Each correct selection is worth one point.

Answer Area

public static void mein({String[] ergs) {

int timer = 6@

while [(timer
if (timer

break;

else {

System.out.println{“The timer iz counting down...")

timer
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A
B

public static vold main{String[] args) {
fnt timer = &8;

while {(tiser w @) {
B
if (timer - Q)
= b
break; =
else { =

system.out.println("The tiser i3 counting down...”

timer -

gt
+
+

. Mastered

. Not Mastered

Answer: A

Explanation:

public stotic vold mein{String[] args) {
int timer = 68&;

while (timap w* a) {
»m
if (timer - @) h
break; p—
L
else {

System.out.println{"The timer iz counting down...”);

NEW QUESTION 9
HOTSPOT

You need to evaluate the following code segment. Line numbers are included for reference only.

el
g2
&3
a4
85
55

int 4 = 53

int b ="18;

int ¢ = ++a * b--;
System.out.printlnfc);
int d = 8-- + ++b;
System.out.println{d};

Use the drop-down menus to select the answer choice that answers each question based on the information presented in the code. NOTE: Each correct selection
is worth one point.
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What is the cutput of line 047

What s the output of line 057

A. Mastered
B. Not Mastered

Answer: A

Explanation:

What is the output of line (47

What is the cutput of line 067

NEW QUESTION 10
HOTSPOT

You are writing a Java method.
The method accepts a two-dimensional string array and prints the content of each array element. The size of each dimension of the array might be different.

How should you complete the code? To answer, select the appropriate code segments in the answer area.

15
45
50
54

L)
13
14

16

14
5
16

NOTE: Each correct selection is worth one point.

publie vold traverss(

1
i

for (int & = 0; x <

for [int y = @)y <

String
Stnng(]
stong(il

board langth
board[] length

_ bl:_lﬂ rdf]{] lenqth

board Iéng[ﬁ
board{x] length
boardiy} lengih

System.out.printlng

A. Mastered
B. Not Mastered

Answer: A

Explanation:

[ boardix]
boardy]
boardixi[y]
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publiec vold traverse( w board)
Stong(if]
for (int x = @; x < -
board len
boardf] |
boardf][] length
for (int y = @) y < ooy

board length
| board(x] lengih;
board]y] lengih

System.out.printle( v |

}
boardy]
boardpx]ly]

NEW QUESTION 10
DRAG DROP

You attend an interview for a job as a Java programmer.

You need to declare a two by three array of the double type with initial values.
How should you complete the code? To answer, drag the appropriate code segment to the correct location. Each code segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

Code Segments Answer Area

A. Mastered
B. Not Mastered

Answer: A
Explanation:
Code

i s o

| SN W

NEW QUESTION 14
You need to evaluate the following code segment:

double dhum = 2.667;
int iNum = @}
iNum = {int)dNum;

What happens when the code segment is run?

A. iNum has a value of 0.
B. An exception is thrown.
C. iNum has a value of 2.
D. iNum has a value of 3.

Answer: B
NEW QUESTION 16
DRAG DROP

You are writing a Java method.
The method must meet the following requirements:
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» Accept a string parameter firsthame
+ Display a welcome message that contains firstName

» Ensure that the first letter of the name is capitalized, and the remaining letters are in lowercase.

How should you complete the code? To answer, drag the appropriate code segment to the correct position. Each code segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

L. S

Mﬂﬁm Angwer Area
oo diatiziring public Strieg showbresting{itring flrstilane)
'.-D'.‘n:u!l'tlﬂ! toUpperCate {
Serlng welconeMag = “Melcome, ™)
witle ometiag s Tiritiiese
firstiianes .,
return welsoneMag)
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Code Scgments Arwer At
| Chaerdy | | wbsirieg peblic String showbreenlngiitrisg Hrsvusss)
toléwarCrid |LE=L1:;-:-—‘:1u 1|

NEW QUESTION 17

Steing selcmssrnng = “welooss, °|

meloomeitag 1= "'.-ullml BEInpart At

PI-'H.'\ut-v-f|‘="""‘It |rn-

FRTERn oE D et gl

You work as a Java programmer.

You need to convert a numeric string to a primitive double value. Which code segment should you use?

A)

Double.valueOf{numberstring);

B)

double.parseDouble{numberString);

C)

String.parseDouble(numberstring);

D)

Double.parseDouble (numberString);

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 18
DRAG DROP

Your instructor asks you to evaluate four arithmetic code segments.
What is the value of each code segment? To answer, drag the appropriate value from the column on the left to its code segment on the right. Each value may be

used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.

Values
o 1
F 1.5
15 19
6 a0
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Values Answer Area

Fa ||1 | (3+8 ) =d4-1 I'w
|- —
fls “m | g 1% T

NEW QUESTION 20

HOTSPOT

You need to evaluate the following code. Line numbers are included for reference only.
21 public static void main{String[] args) {
ez int anum = 55;
a3 for (int cnt-=8; cnt < 18; cotit) o

&4 sdd{anum) ;

85  }

86 System.out.println{anum);
87 ¥

Ba

8% public static void add{int anum) {
18 anum+;
11 }

Use the drop-down menus to select the answer choice that answers each question based on the
information presented in the code. NOTE: Each correct selection is worth one point.

[(EENX N [}
Arngwer Area
Wihich statement describes the value of arus af line 057 ot
Which statement describes the value of arum a1 line 117 -
Which statement cescnbes the value of wrus af fng 057 =

When gnf 15 2 thevalug of anum = 55
‘When cnt i & the value of anum ig 56
When ent 14 9 the value of anum = 64
‘When ent 58, the value of anum w45
Which statement describes the value of amus a1 bive 117 -
When ent s T, the valua of snum is 55
Wivest el is- T the valug ol anum s 55
Whien ont Is 7, the vales of anum ks 62
When oni is 7, the valua of aoum iz 53
Which statement describes thevaluie of cat at line D57 »
Tha wahie of ol s 10

Thee +ahie of oni by 11
Thi variabbs ont is out of scops

A. Mastered
B. Not Mastered

Answer: A

Explanation:

‘Which statement describes the value of araes a8 fng 057 - ; ! =

&
Wihan ent i1 9 the value of anum o 55
When onf @ 2 he value of anum = 64
When ent i 9, the value of anum & 83 i
Which statement describes the value of anes at bive 177 o

|'.-"mer|m1'r-.|‘.l' the vales of anum is 55 I
I " L' [¥]

\When ot Is 7. the valus of anum s 62
When ont s 7, the vales of eoum k= 3

Which staterment describes the value of cae at line DET o

T wahie of oo is 10

Falg ol on
Thi variabis cnt i out of scops

NEW QUESTION 25

DRAG DROP

You are interviewing for a job at Adventure Works, Inc. The hiring manager asks you to create a simple console program.

The program takes multiple arguments from the command line and writes them to the screen in the same order as they were typed on the command line.
Which three code segments should you use to develop the solution? To answer, move the appropriate code segments from the list of code segments to the
answer area and arrange them in the correct order.
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Code Segments.
petlic statls vold maln(Strdeg arpements} |
for {int | = 83 § 4 wrgs.dengthy les)
Syarencest. peintinfarpai])z
¥
' )
for (Ant 1 = §j L 4= IAGdgec.gatialat{arga[@]); Lae)
ysten.oet.printindsrpaets] L]
!
£
peblic ptetle vold madn(Soedegi] srge) [

for (iat 1 = 8 | 4 irgessiti.lisgth] las) |

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Lads Segmants

lpubll: wtatds vald maln[SEring argusenta] |

| for {Ink 4 = 8 L € srgn, Jengthy 384)

L) ST

H

I

System, ot prinkinfargsfE)11
|

}

Anvwsr Ares

dypiten.out.prlntlalerga[1]);:

for (ot 4 = §) | o= Integer-pareslnt{srga[@]}; 1s4) |

peblic statle vold mals{string[] arg) {

Syates. et printindargesental 1)
]

r

(rliv)

for (imt | = 0; 4 wrga.leageh; Les) |

lpﬂ'lli: stetic vold mals{String[] arga] |

| for (Iar 1 = & | @ = pemnts.langthy lea] {

NEW QUESTION 30
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